	
	                   RETTANGOLO


	

	base


	altezza
	perimetro
	Area

	b


	h
	p= ( b+h ) x 2
	A = b x h

	FORMULE INVERSE

	b= (p - 2h) : 2


	h=( p -2b ) : 2
	
	

	b= p :2 - h


	h= p : 2 -b
	
	

	b= A : h


	h= A : b
	
	


	
	                TRIANGOLO


	base


	altezza
	lato
	perimetro
	Area

	b
	h
	l
	p= l+l+l
	A = b x h :2

	FORMULE INVERSE

	in generale 

b= p - i 2 lati
	
	scaleno

l= p - (b + altro lato)
	
	

	isoscele

b= p - 2lati


	isoscele

h= teorema di Pitagora

h= A x 2 : b
	isoscele

l= p - b

      2
	
	

	b= A x 2 : h


	h= A x 2 : b
	equilatero

l= p : 3
	
	

	
	                PARALLEOGRAMMA


	base


	altezza
	lato
	perimetro
	Area

	b


	h
	l
	p=( b + l ) x 2
	A = b x h 

	FORMULE INVERSE

	b= ( p - 2lati ) : 2


	
	 l = ( p - 2b ) : 2


	
	

	b= A : h


	h = A: b
	
	
	


ROMBO

	diagonale 

maggiore
	diagonale minore
	altezza
	lato
	perimetro
	Area

	D
	d
	h
	l
	p = l x 4
	A = D x d : 2

A = l x h 

	FORMULE INVERSE

	D=  A x 2 : h


	d= A x 2 : D
	h= A: l
	l = p : 4
	
	


                                                    QUADRATO

	lato


	perimetro
	Area

	l
	p = l x 4
	A = l 2

	FORMULE INVERSE
	
	

	l = p : 4
	
	

	l = radq Area
	
	


         FORMULE   DIRETTE ED INVERSE  DEI TRAPEZI

	Base maggiore
	base minore
	altezza
	lato obliquo
	perimetro
	AREA

	B
	b
	h
	lo
	P= B+ b+h+lo (trap. Rett.)

p= B + b + 2 lo (trap. Isoscele)
	A=( B +  b) * h

                 2

	FORMULE INVERSE  TRAPEZIO RETTANGOLO       (dal perimetro)



	B= p - (lo + h + b)
	b= p - ( lo + h + B)
	h = p - (lo+B + b)
	lo= p -(B + b +h)
	
	

	FORMULE INVERSE  TRAPEZIO ISOSCELE               (dal perimetro)

	B= p - ( 2lo + b)
	b= p - (   2lo + B)
	
	lo= p -(B + b )

           2
	
	

	FORMULE INVERSE    dei     TRAPEZI                           (dall’area )


	B =  A x 2   -  b
          h
	b =  A x 2   - B
          h
	h =  A x 2  

        B + b 
	
	
	

	                 B + b=  A x 2   
                                 h


	
	
	
	


CIRCONFERENZA E CERCHIO

	raggio
	diametro
	circonferenza ((perimetro)
	area (cerchio

	r
	d = 2r
	c= 2 r *3,14       ( r*6,28

c=  d *3,14

c=  2r(               ( d*(
	A= r2(

	FORMULE INVERSE

	r = d : 2
	d = c : (
	
	

	r = c : 6,28
	d = c : 3,14
	
	

	       ______      

r = ( A : (
	
	
	


